GK m2 K13 * Lineare Gleichungssysteme

Losen Sie jeweils das lineare Gleichungssystem.

Aufgabe 1

(1) 2 X1 + X

(2) X1 - X2 - X3

(3) 3%, + 2 X3
Aufgabe 2

(1) 3 X1 - 275 X2 + X3

(2) X1 + 2%

(3) - X1 + 2 X3
Aufgabe 3

(1) X1 + X + 3 X3

(2) 5 X1 + 2 X,

(3) X2 + 5 X3
Aufgabe 4

(1) X1 + 2 X%, + 3 X3

(2) X1 + 2 X2 + X3

(3) 2 X1 - X2 + X3
Aufgabe 5

1) X1 - X2 + X3

(2) X1 + X2 - X3

) - X1 + X2 + X3
Aufgabe 6

1) X1 + X2

(2) 2 X, - X3

(3) 2 X1 + X3
Losungen:

AWN

2,5
15

1
1
)]

e

1. L={(1+r/-2r/-2+3r) reR}
2. L={(15/0/-2)}

3. L={}

4. L={(2+r/r/1-r) reR}

5. L={(1/-1/1)}

6. L={(1-r/r/-1+2r) reR}



